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%
Mx—: HERGZORG
ClassSwarm.m 8K

classdef ClassSwarm
%  CLASSSWARM A &/~ 5 b S 4 22
% B AR
% OSERNEE. Feddce, B, SRS
% WEEHRNTIEE: ERRRESEN, S£HELT, EHSARRE

properties
N % P MEH =
agent % PRI SEL B
isTurn % ZRP\ M AT AL -1 £F 0 HAT 1 A%
turnTime % 5725 BT
maxTurnTime % i K525 IR EL

r % AT
w % S IR
velo % HE
end
methods
function obj = ClassSwarm(N,state,vel,minr)
global dT
obj.velo = vel;
obj.r = minr;
obj.w = obj.velo/obj.r;
obj.N =N;
obj.isTurn = 0;
obj.turnTime =0;
obj.maxTurnTime = pi/(obj.w*dT);
fori=1:N
obj.agent = [obj.agent,ClassAgent(i,state(:,i))];
end
end
function [outputl,output2,output3] = UpdateState(obj) % V& IREE R
global dT
if obj.isTurn == -1 || obj.isTurn ==
if obj.turnTime <obj.maxTurnTime
obj.turnTime = obj.turnTime+1;
else
obj.isTurn = 0;
obj.turnTime = 0;
end
end
fori=1:0bj.N
obj.agent(i).yaw = [obj.agent(i).yaw,
mc(obj.agent(i).yaw(end)+obj.isTurn*dT*obj. w*180/p|)]
direct = [ sin(obj.agent(i).yaw(end)*pi/180) ;
cos(obj.agent(i).yaw(end)*pi/180) ];
obj.agent(i).pos = [obj.agent(i).pos,
obj.agent(i).pos(:,end)+dT*obj.velo*direct];
end

outputl = obj.agent;

output2 = obj.isTurn;

output3 = obj.turnTime;
end

function [outputl,output2,output3] = SwarmTurn(obj,isTurn,angle) % A %%, #%45ff
JZ angle (J%)
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global dT

if obj.isTurn == -1 || obj.isTurn == 1% #FHEERFIEEET, NEHDIHESAEL.
outputl = obj.isTurn;
output2 = obj.turnTime;
output3 = obj.maxTurnTime;

else % =

FEIEAE TR, NS4

outputl =isTurn;
output2 = 0; % turntime
output3 = (angle*pi/180)/(obj.w*dT);

end

end

function plotPath(obj,k)
% L0

ifk>0
color=[[100]
[001]
[101]
[0.10.10.44]

[0.630.32 0.18]
[0.20.630.79]
[0.18 0.55 0.34]
[0.23 0.73 0.94]
[10.27 0]
[0.48 0.25 0.84]
[0.630.93 0.34]
[0.110.77 0.24]];
fori=1:0bj.N
x = obj.agent(i).pos(1,:);
y = obj.agent(i).pos(2,:);
plot(x,y,'Color',color(k,:),'LineWidth',1);
end
else
fori=1:0bj.N
x = obj.agent(i).pos(1,:);
y = obj.agent(i).pos(2,:);
plot(x,y,'LineWidth',1);
end
end
end

function scatterPoint(obj,k)
% il ]

ifk>0
color =[[100]
[001]
[101]
[0.10.10.44]

[0.630.320.18]
[0.20.630.79]
[0.18 0.55 0.34]
[0.23 0.73 0.94]
[10.27 0]
[0.48 0.25 0.84]
[0.63 0.93 0.34]
[0.110.77 0.24]];
fori=1:0bj.N
x(i) = obj.agent(i).pos(1,end);
y(i) = obj.agent(i).pos(2,end);
end
scatter(x,y,1,color(k,:));
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else
fori=1:0bj.N
x(i) = obj.agent(i).pos(1,end);
y(i) = obj.agent(i).pos(2,end);
end
scatter(x,y,1);
end
end

end
end

ClassAgent.m % fg k&

classdef ClassAgent
% CLASSAGENT A {7 A5 DR I 2K (1 47 22
% A TfEAF Agent [P RTAITT SERESE R

properties
D% %5
pos % fi &
yaw % L[]
end

methods
function obj = ClassAgent(ID,state)
0bj.ID = ID;
obj.pos = state(1:2);
obj.yaw = state(3);
end
end

end

isAttack.m 12/

function is = isAttack(blue,swarm)
is=0;
num =0;
posb = blue.agent.pos(:,end);
fori=1l:swarm.N
posr = swarm.agent(i).pos(:,end);
if norm(posr-posb) < 300
num=num+1;
end
end
if num>=2
is=1;
end
end

Main.m BATAL: WEH—KTE (FABLHN RE=—F R 7 R R

clc
clear all
close all

%% ZHAIIEN
global dT B
dT =0.5; % [A] b [A]
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L = 50000;
M = 40000;

%% WIEEATC NHLERRE B A B R E
nl=20; % FYO1 55—k o AWLEERF 14+
statel = []; % x y k 7 &A1)
fori=1:20

statel(:,i) = [19000;-950+100%*(i-1);0];
end
swarm = ClassSwarm(n1,state1,200,350);

n2=1;% W TN
state2 = [-25000;0;90];
blue = ClassSwarm(n2,state2,250,500);

%% EIAHAT BSHCTH 2%
simtime = 0; % 131 EAREL
for num=1:1
simtime = simtime+1;
index = 0;
turnpara = [J;
[turntime ,turnpara] = genturn()
hasturn = 0; % L4 56725 R IR
swarm = ClassSwarm(n1,state1,200,350);
blue = ClassSwarm(n2,state2,250,500);
clf
figure(1)
hold on;
axis equal;
xlabel("XHL X X Hh CK) );
ylabel(‘ % HLX Y i CK) )
set(gcf, 'doublebuffer’, 'on') % &5 A4k
plotArea(M,L);
fori=1:n1
xswarm(i) = swarm.agent(i).pos(1,end);
yswarm(i) = swarm.agent(i).pos(2,end);
end
plotred = scatter(xswarm,yswarm,20,'.'"); %1 red swarm FJ#IUGHL &
plotblue = scatter(blue.agent.pos(1,end),blue.agent.pos(2,end),20,'b."); % blue [KIHIEENL

for i = 1:ceil(360/dT) % — X1 H
index = index + 1; % 1% #%
if hasturn < turntime
if index*dT > turnpara(hasturn+1,1)
thisangle = genangle(blue,M,L);
[blue.isTurn , blue.turnTime, blue.maxTurnTime] =
blue.SwarmTurn(sign(thisangle),abs(thisangle));
hasturn = hasturn +1;
end
end
[blue.agent, blue.isTurn , blue.turnTime] = blue.UpdateState; % 1k 5 T

if index*dT > 35
if swarm.isTurn == 0 % A7 REULIT IEAET K, TIA W2 75 7 B4 2 e sk
if isNeedTurn(swarm,blue) == 1 % AR HEFHE 77 B AL B hask, WHAT AL
180 &
[swarm.isTurn , swarm.turnTime, swarm.maxTurnTime] =
swarm.SwarmTurn(-1,180);
end
end
N [swarm.agent , swarm.isTurn , swarm.turnTime] = swarm.UpdateState; % IRASHE
2l

end
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figure(1)
fori=1:n1
xswarm(i) = swarm.agent(i).pos(1,end);
yswarm(i) = swarm.agent(i).pos(2,end);
end
set(plotred,'xdata’,xswarm,'ydata',yswarm); %% & agent2 iz )it 2
blue.scatterPoint(2)
drawnow

if index*dT > 360 || isAttack(blue,swarm) || (blue.agent.pos(2,end)>M/2 ||
blue.agent.pos(2,end)<-M/2) || (blue.agent.pos(1,end)>L/2 || blue.agent.pos(1,end)<-L/2)% %
A
break
end

end
end

St AW b W | R P i

fourSwarnAttack.m

clc
clear all
close all

%% SHAIMH

global dT

dT =0.5; % [H]FF ]

L =50000;

M = 70000;

oneangle = 200/350*dT;

%% WIGEATC NHLEE T (1) B A
n0=1;% W7 L AML

state0 = [-25000;0;90];

% blue = ClassSwarm(n0,state0,250,500);

nl=5; % FYOL 35— o MWL I A AR
statel = []; % x y k 137 & A [
fori=1:5

state1(:,i) = [19000;5000+100*(i-1);270];
end
% swarm1 = ClassSwarm(n1,state1,200,350);

n2=5; % FY02 35— o ML A AUCR
state2 = []; % x y k 7 & FIfii [
fori=1:5

state2(:,i) = [19000;-5000-100*(i-1);270];
end
% swarm?2 = ClassSwarm(n2,state2,200,350);

deltax = 1000;

deltay = 10000;

n3 =5; % FYO1 28 3 JC AWLAERF 4=
state3 = statel; % xy k o7 & FIJi 7]
state3(1,:) = statel1(1,:) + deltax;

state3(2,:) = state1(2,:) + deltay;

% swarm3 = ClassSwarm(n3,state3,200,350);

n4 =5; % FY02 5 i ANHLEERER 2R
stated = state2; % x y k 17 B AL 7]

53




state4(1,:) = state2(1,:) + deltax;
state4(2,:) = state2(2,:) - deltay;
% swarm4 = ClassSwarm(n4,state4,200,350);

%% JEAPAT
simtime = 0; % 10317 HIREL
fornum=1:1
%%%%% TN EIFUEHINE, FATERBESEAIGEN %%%%%
simtime = simtime+1;
index = 0;
turnpara = [J;
[turntime ,turnpara] = genturn()
hasturn = 0; % .2 5525 VR
blue = ClassSwarm(n0,state0,250,500);
swarm1 = ClassSwarm(n1,statel1,200,350);
swarm2 = ClassSwarm(n2,state2,200,350);
swarm3 = ClassSwarm(n3,state3,200,350);
swarm4 = ClassSwarm(n4,state4,200,350);
%%%%% FETEITIRHIIN R, BEATHEBZERIGN %%%%%

%%%%%%%%% %% %% [ ] %%%%%%%%%%%

clf

figure(1)

hold on;

% axis([-30000 35000 -40000 45000]);

axis equal;

xlabel(FFPTIX X B CK) )

ylabel('XFHLIX Y i CKD )

set(gcf, 'doublebuffer', 'on') % & 4 [A 4k

plotArea(M,L);

fori=1:n1
xswarm(i) = swarml.agent(i).pos(1,end);
yswarm(i) = swarm1l.agent(i).pos(2,end);

end
plotredl = scatter(xswarm,yswarm,20,'r."); % red swarm [KIWJEE 07 B
fori=1:n2
xswarm(i) = swarm2.agent(i).pos(1,end);
yswarm(i) = swarm2.agent(i).pos(2,end);
end
plotred2 = scatter(xswarm,yswarm,20,'r."); % red swarm [KI¥IEE 0 B
fori=1:n3
xswarm(i) = swarm3.agent(i).pos(1,end);
yswarm(i) = swarm3.agent(i).pos(2,end);
end
plotred3 = scatter(xswarm,yswarm,20,'r."); % red swarm [KI¥JEE 07 B
fori=1:n4
xswarm(i) = swarmd4.agent(i).pos(1,end);
yswarm(i) = swarm4.agent(i).pos(2,end);
end

plotred4 = scatter(xswarm,yswarm,20,'r."); % red swarm [0 & ‘
plotblue = scatter(blue.agent.pos(1,end),blue.agent.pos(2,end),20,'b.");%IH blue HJHIIHAL

%%%%%%%%%%%%% ] %%%%%%%%%%%

for i = 1:ceil(360/dT) % — X fj B # K 360s
%%%%%%% i 77 70 NHLAE 25 MRS SR AL %%%%%%%
index = index + 1; % T4 #%
if hasturn < turntime
if index*dT > turnpara(hasturn+1,1)
thisangle = genangle(blue,M,L);
[blue.isTurn , blue.turnTime, blue.maxTurnTime] =
blue.SwarmTurn(sign(thisangle),abs(thisangle));
hasturn = hasturn +1;
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end
end
[blue.agent, blue.isTurn , blue.turnTime] = blue.UpdateState; % IR 5 T
%%%%%%% Wi 770 NMLIFE ZFRAS HHAL IR %%%%%%%

%% %% £ 4 NI INUEEREFI RS ARSI %%%%
if index*dT > 35
if swarml.isTurn == 0 % A7 EEREILAT IEAE P K, AT 75 75 B 28 i Sk
if isNeedTurn3(swarmi,blue) ~= 0 % # HR¥E HRBE 75 B2 ik, NHAT A

#0180 i
[swarml.isTurn , swarml.turnTime, swarml.maxTurnTime] =
swarml.SwarmTurn(isNeedTurn3(swarm1,blue),oneangle);
end

if isNeedTurn3(swarm2,blue) ~= 0 % #5 HR¥E JRME 75 B 25 ik, MHAT A

180 i
[swarm2.isTurn , swarm2.turnTime, swarm2.maxTurnTime] =
swarm2.SwarmTurn(isNeedTurn3(swarm2,blue),oneangle);
end

if isNeedTurn3(swarm3,blue) ~= 0 % # HR¥E SRME 75 B2 ik, NHAT A

180 &
[swarm3.isTurn , swarm3.turnTime, swarm3.maxTurnTime] =
swarm3.SwarmTurn(isNeedTurn3(swarm3,blue),oneangle);
end

if isNeedTurn3(swarm4,blue) ~= 0 % # HR¥E HRHE 75 B2 ik, NHAT A

180 &
[swarm4.isTurn , swarm4.turnTime, swarm4.maxTurnTime] =
swarm4.SwarmTurn(isNeedTurn3(swarm4,blue),oneangle);

end

end

[swarml.agent , swarml.isTurn , swarml.turnTime] = swarm1l.UpdateState; % R
AW

[swarm2.agent , swarm2.isTurn , swarm2.turnTime] = swarm2.UpdateState; % R
AR

[swarm3.agent , swarm3.isTurn , swarm3.turnTime] = swarm3.UpdateState; % R
AR

[swarm4.agent , swarmd.isTurn , swarm4.turnTime] = swarm4.UpdateState; % R
AHEH
1N pa

end

%% %% 2177 4 NI ANERFIE LS ALREEH A %%%%

%% %%%%% £z il SIS EIZE ] %%%%%%%
figure(1)
fori=1:n1
xswarm(i) = swarml.agent(i).pos(1,end);
yswarm(i) = swarm1l.agent(i).pos(2,end);

end
set(plotredl,'xdata’,xswarm,'ydata',yswarm); %1% & swarm1 [/Jiz s id 72
fori=1:n2

xswarm(i) = swarm2.agent(i).pos(1,end);

yswarm(i) = swarm2.agent(i).pos(2,end);
end
set(plotred2,'xdata’,xswarm,'ydata’,yswarm); %1% & swarm2 iz 5t 2
fori=1:n3

xswarm(i) = swarm3.agent(i).pos(1,end);

yswarm(i) = swarm3.agent(i).pos(2,end);
end
set(plotred3,'xdata’,xswarm,'ydata’,yswarm); %% & swarm2 iz 5t 2
fori=1:n4

xswarm(i) = swarm4.agent(i).pos(1,end);

yswarm(i) = swarmd4.agent(i).pos(2,end);
end
set(plotred4,'xdata’,xswarm,'ydata',yswarm); %% & swarm2 HJiz sl f2
blue.scatterPoint(2)
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drawnow i
%%%%%%% 25 il ST LI B %%%%%%%

%%%%%%% ¢ TE LKL AT %%%%%%%
if index*dT > 360 || isAttack(blue,swarml) || isAttack(blue,swarm2) ||
isAttack(blue,swarm3) || isAttack(blue,swarm4) || (blue.agent.pos(2,end)>M/2 ||
blue.agent.pos(2,end)<-M/2) || (blue.agent.pos(1,end)>L/2 || blue.agent.pos(1,end)<-L/2)% %
A
break
end
%%%%%%% ¢ TE LKL AT %%%%%%%
end
end

PR=: 37 B ANLIEH R Sk

fourSwarmAttackbuleEscape.m

clc
clear all
close all

%% ZHAIIEN

global dT

dT=0.5; % [H]F@HT[E]

L =50000;

M =70000;

oneangle = 200/350*dT;

%% WIUEATC NHLERHE B A B R i
n0=1;% 5 EANL

state0 = [-25000;0;90];

% blue = ClassSwarm(n0,state0,250,500);

nl=5; % FYOL 35— o ML I A AUE
statel = []; % x y k 17 & FIfii [
fori=1:5

state1(:,i) = [19000;5000+100*(i-1);270];
end
% swarm1 = ClassSwarm(n1,state1,200,350);

n2 =5; % FY02 5 — i o AHLARHE AR
state2 = []; % x y k 7 & FIfii [
fori=1:5

state2(:,i) = [19000;-5000-100%(i-1);270];
end
% swarm?2 = ClassSwarm(n2,state2,200,350);

deltax = 1000;

deltay = 10000;

n3 =5; % FYO1 2% o AWLAERE R £
state3 = statel; % xy k o7 & FIJi 7]
state3(1,:) = statel(1,:) + deltax;

state3(2,:) = statel(2,:) + deltay;

% swarm3 = ClassSwarm(n3,state3,200,350);

nd = 5; % FY02 2 ik o AWLSERE R £
stated = state2; % x y k 7. & FIL [A]
state4(1,:) = state2(1,:) + deltax;

state4(2,:) = state2(2,:) - deltay;

% swarm4 = ClassSwarm(n4,state4,200,350);

%% fEHHAT
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simtime = 0; % 10~ 17 EIREL
for num=1:1

true

%%%%% R EITIRRIIN R, HEATEBSEWIIEN %%%%%
simtime = simtime+1;

index = 0;

turnpara = [J;

[turntime ,turnpara] = genturn()

hasturn = 0; % .2 55245 VR

blue = ClassSwarm(n0,state0,250,500);

swarm1 = ClassSwarm(n1,statel1,200,350);

swarm2 = ClassSwarm(n2,state2,200,350);

swarm3 = ClassSwarm(n3,state3,200,350);

swarm4 = ClassSwarm(n4,state4,200,350);

%%%%% A EITIERI %, HATEBSEAIGN %%%%%

%%%%%%%%%%%%% 1 ] %%%%%%%%%%%
clf
figure(1)
hold on;
% axis([-30000 35000 -40000 45000]);
axis equal;
xlabel("XTHLX X Hh CKD );
ylabel('XHHLIX Y i CKD )
set(gcf, 'doublebuffer’, 'on') % &5 A4k
plotArea(M,L);
fori=1:n1
xswarm(i) = swarml.agent(i).pos(1,end);
yswarm(i) = swarm1l.agent(i).pos(2,end);
end
plotredl = scatter(xswarm,yswarm,20,'r."); %I red swarm HI¥JIE 10 B
fori=1:n2
xswarm(i) = swarm2.agent(i).pos(1,end);
yswarm(i) = swarm2.agent(i).pos(2,end);
end
plotred2 = scatter(xswarm,yswarm,20,'r."); % red swarm [IHIEE 0 B
fori=1:n3
xswarm(i) = swarm3.agent(i).pos(1,end);
yswarm(i) = swarm3.agent(i).pos(2,end);
end
plotred3 = scatter(xswarm,yswarm,20,'r."); % red swarm [KIHJEE 07 B
fori=1:n4
xswarm(i) = swarmd4.agent(i).pos(1,end);
yswarm(i) = swarm4.agent(i).pos(2,end);
end
plotred4 = scatter(xswarm,yswarm,20,'r.'); % red swarm [I¥JEE 0 B
plotblue = scatter(blue.agent.pos(1,end),blue.agent.pos(2,end),20,'b."); % blue [KIHIEENL

%%%%%%%%%%%% 1HI B %%%%%%%%%%%

isblueturnl = true;
isblueturn2 = false;
for i = 1:ceil(360/dT) % —{X4/i H. % K 360s
%%%%%%% i 77 To NS VRS ST AL %%%%%%%
index = index + 1; % 1% #%
if norm(swarm1l.agent(3).pos(:,end)-blue.agent.pos(:,end))<5000 && isblueturnl ==

[blue.isTurn, blue.turnTime, blue.maxTurnTime] = blue.SwarmTurn(1,90);
thow = index*dT;
isblueturni = false;
isblueturn2 = true;
end
if isblueturn2
if (index*dT - tnow) > 50
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[blue.isTurn , blue.turnTime, blue.maxTurnTime] = blue.SwarmTurn(-1,90);
isblueturn2 = false;
end
end

[blue.agent, blug.isTurn , blue.turnTime] = blue.UpdateState; % JRATE T
%%%%%%% 1 )i T NNV FMURZS TEHT AL %%%%%%%

%%%% 2177 4 NTC MRS FRAS AT %%%%
if index*dT > 35
if swarml.isTurn == 0 % A EEREILAT IEZE P&, DI BT 2 75 e Bl s i Sk
if isNeedTurn3(swarmi,blue) ~= 0 % #5 HR¥E SRME 75 B L 25 ik, MHAT A

180 JiF
[swarml.isTurn , swarml.turnTime, swarml.maxTurnTime] =
swarml.SwarmTurn(isNeedTurn3(swarm1,blue),oneangle);
end
if isNeedTurn3(swarm2,blue) ~= 0 % # HRHE HRBE 75 B L2 ik, NHAT A

180 &
[swarm2.isTurn , swarm2.turnTime, swarm2.maxTurnTime] =
swarm2.SwarmTurn(isNeedTurn3(swarm2,blue),oneangle);
end
if isNeedTurn3(swarm3,blue) ~= 0 % A HR 4 SR M 75 BLEE S psk, MPAT A
# 180 J¥
[swarm3.isTurn , swarm3.turnTime, swarm3.maxTurnTime] =
swarm3.SwarmTurn(isNeedTurn3(swarm3,blue),oneangle);
end
if isNeedTurn3(swarm4,blue) ~= 0 % # HRHE HRBE 75 B L2 w5k, NHAT A
# 180 J¥
[swarm4.isTurn , swarm4.turnTime, swarm4.maxTurnTime] =
swarm4.SwarmTurn(isNeedTurn3(swarm4,blue),oneangle);

end

end
S [swarml.agent , swarml.isTurn , swarml.turnTime] = swarm1.UpdateState; % R
N S

[swarm2.agent , swarm2.isTurn , swarm2.turnTime] = swarm2.UpdateState; % R
AT

[swarm3.agent , swarm3.isTurn , swarm3.turnTime] = swarm3.UpdateState; % R
AW

[swarm4.agent , swarmé4.isTurn , swarm4.turnTime] = swarm4.UpdateState; % R
S

end

%% %% 2177 4 NI INUEERE RIS ARSI %%%%

%%%%%%% 2z il SN I ] %9%%%%%%
figure(1)
fori=1:n1
xswarm(i) = swarml.agent(i).pos(1,end);
yswarm(i) = swarm1l.agent(i).pos(2,end);

end
set(plotred1,'xdata’,xswarm,'ydata',yswarm);% % & swarm1 HJizz)id f2
fori=1:n2

xswarm(i) = swarm2.agent(i).pos(1,end);
yswarm(i) = swarmz2.agent(i).pos(2,end);

end
set(plotred2,'xdata’,xswarm,'ydata',yswarm); %% & swarm2 HJiz sl f2
fori=1:n3

xswarm(i) = swarm3.agent(i).pos(1,end);
yswarm(i) = swarm3.agent(i).pos(2,end);

end
set(plotred3,'xdata’,xswarm,'ydata',yswarm); %% & swarm2 HJizz)id f2
fori=1:n4

xswarm(i) = swarmd4.agent(i).pos(1,end);
yswarm(i) = swarm4.agent(i).pos(2,end);
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end

set(plotred4,'xdata’,xswarm,'ydata’,yswarm); %1% & swarm2 izt 2

set(plotblue,'xdata’,blue.agent.pos(1,end),'ydata’,blue.agent.pos(2,end)); %1% & agent2
iz s id

blue.scatterPoint(2)

%%%%%%% Lol SN I ] %9%%%% %%

%%%%%%% 45 E L5 1M %%%%%%%
if index*dT > 360 || isAttack(blue,swarml) || isAttack(blue,swarm2) ||
isAttack(blue,swarm3) || isAttack(blue,swarm4) || (blue.agent.pos(2,end)>M/2 ||
blue.agent.pos(2,end)<-M/2) || (blue.agent.pos(1,end)>L/2 || blue.agent.pos(1,end)<-L/2)% %
A
break
end
%%%%%%% ¢ TE LI FFAT %%%%%%%
end
end

PRI L5 EAPRRSSHRBAR ShFRBEBI R

DynamicAlliance.m

clc
clear all
close all

%% ZHWIUE
global dT

dT=0.5; % [&]FRHT (A

L =50000;

M = 100000;

oneangle = 200/350*dT;

%% VI To NAVEHRE IR A B N3
blue =[];
n0=3;
bstate = [-25000 -25000 -25000
35000 -13000 -24000
90 90 90];

swarm = [];
nl=10; % FYO1 55— o AWLEERE B
rstate = [19000 19000 19000 19000 19000 23000 23000 23000 23000 23000
10000 30000 50000 70000 90000 82000 88000 35000 24000 28000
270 270 270 270 270 270 270 270
270 270]; % x y k 57 & A ]

%% JEHAT

simtime = 0; % 1031 FLIREL

for num=1:1
%%%%% TFIA BIFUEIIN%E, FATERESEAIIGEN %%%%%
simtime = simtime+1;
index = 0;
turnparal = [];
turnpara2 = [];
turnpara3 = [];
[turntimel ,turnparal] = genturn()
[turntime2 ,turnpara2] = genturn()
[turntime3 ,turnpara3] = genturn()
turntime = [turntimel,turntime2,turntime3];
hasturn = [0 0 0]; % .4 #6725 1R
blue =[];
fori=1:n0
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blue = [blue ClassSwarm(1,bstate(:,i),250,500)];
end
swarm = [];
fori=1:nl

state = [rstate(:,i) rstate(:,i) rstate(:,i) rstate(:,i) rstate(:,i)];

state(2,3) = state(2,3) + 0 -50000;

state(2,1) = state(2,3) + 200;

state(2,2) = state(2,3) + 100;

state(2,4) = state(2,3) - 100;

state(2,5) = state(2,3) - 200;

swarm = [swarm ClassSwarm(5,state,200,350)];
end

%%%%% TFXAT BRI E, SHATEMSEVIGEL %%%%%

%%%%%%%%%%%%% 1 ] %%%%%%%%%%%
clf
figure(1)
hold on;
% axis([-30000 35000 -40000 45000]);
axis equal;
xlabel(FFPTX X B CK) )
ylabel('XFHLIX Y i CKD )
set(gcf, 'doublebuffer', 'on') % &4 N AR
plotArea(M,L);
plotblue = [];
plotred2 = [];
fori=1:n0
plotblue(i) = scatter(blue(i).agent.pos(1,end),blue(i).agent.pos(2,end),20,'b."); % blue

e &

end
forj=1:n1
fori=1:5
xswarm(i) = swarm(j).agent(i).pos(1,end);
yswarm(i) = swarm(j).agent(i).pos(2,end);
end
plotred(j) = scatter(xswarm,yswarm,20,'r."); %1 red swarm FJ#IUGEHL B
end
%%%%%%%%%%%%% 15 K] %%%%%%%%%%%

for i = 1:ceil(360/dT) % — X 4/i H. % K 360s
%%%%%%% i 77 To NNV 25 HURAS ST AL %%%%%%%
fori=1:n0
ifi==
turnpara = turnparal;
elseif i ==
turnpara = turnpara2;
elseif i ==
turnpara = turnpara3;
end
index = index + 1; % T4 &%
if hasturn(i) < turntime(i)
if index*dT > turnpara(hasturn+1,1)
thisangle = genangle(blue(i),M,L);
[blue(i).isTurn , blue(i).turnTime, blue(i).maxTurnTime] =

blue(i).SwarmTurn(sign(thisangle),abs(thisangle));

Hr

hasturn = hasturn +1;
end
end
[blue(i).agent , blue(i).isTurn , blue(i).turnTime] = blue(i).UpdateState; % JIRAE

end
%%%%%%% Wi J7 T NV AR TR AT %%%%%%%
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%%%% 2177 10 NJIC ANALEEHE I S AR HOHT AR B %% %%
if index*dT > 35
fori=1[1,9,10]
if isNeedTurn3(swarm(i),blue(3)) ~= 0% R ¥E RIS 75 B sk, WHAT

Je ¥ 180
[swarm(i).isTurn , swarm(i).turnTime, swarm(i).maxTurnTime]
swarm(i).SwarmTurn(isNeedTurn3(swarm(i),blue(3)),oneangle);
end
[swarm(i).agent , swarm(i).isTurn , swarm(i).turnTime]
swarm(i).UpdateState; % PR 5 #r
end
fori=[2,3,8]
if isNeedTurn3(swarm(i),blue(2)) ~= 0 % R4 RS T L2 sk, AT

FEHE 180
[swarm(i).isTurn , swarm(i).turnTime, swarm(i).maxTurnTime] =
swarm(i).SwarmTurn(isNeedTurn3(swarm(i),blue(2)),oneangle);
end
[swarm(i).agent , swarm(i).isTurn , swarm(i).turnTime] =
swarm(i).UpdateState; % A7 HT
end
fori=4:7
if isNeedTurn3(swarm(i),blue(1)) ~= 0 % AR FE0s 75 ZEL L4k, WHAT
T 180

[swarm(i).isTurn , swarm(i).turnTime, swarm(i).maxTurnTime]
swarm(i).SwarmTurn(isNeedTurn3(swarm(i),blue(1)),oneangle);
end
[swarm(i).agent , swarm(i).isTurn , swarm(i).turnTime]
swarm(i).UpdateState; % PR 5 Hr
end
end

%% %% Z177 10 NI AHUEERE I B RVIRES R %%%%

%%%%%%% 22 il SEIT HIE K] %%%%%%%
figure(1)
fori=1:n0
blue(i).scatterPoint(2)
end
fori=1:n1
swarm(i).scatterPoint(i+2)
end
drawnow
%%%%%%% 22l SEIT BT K %%%%%%%

%%%%%%% 25 E L IEFNT %%%%%%%
% if index*dT > 360 || isAttack(blue,swarml) || isAttack(blue,swarm2) ||
isAttack(blue,swarm3) || isAttack(blue,swarm4) || (blue.agent.pos(2,end)>M/2 ||
blug?ﬁient.pos(2,end)<-M/2) || (blue.agent.pos(1,end)>L/2 || blue.agent.pos(1,end)<-L/2)% %
R

% break
% end
%%%%%%% 25 E L 1LEM %%%%%%%
end
end
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